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Question (01) J!sdl Answer (C) <! sal)

Compared to the charge of a proton, the electron O SIS s o gyl A B A0 5.
charge is :

OA.

greater and of the same sign

OB.

equal and of the same sign

Oc.

equal and of opposite sign

QD.

smaller and of opposite sign

Question (02) Answer (C) J sl il sal)

Chlorine atom is in an excited state. When an O SN & aty Leaie 3 e e 3 6083 2
electron in this atom jumps from the fourth to the & st ) a1 A8 g gle a3 3 o2

third shell, energy is : _ 28 oS dallall e (Sl aaall

OA.

absorbed

OB.

converted to electricity

Oc.

released

disappeared
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Question (03) J's-dl  Answer (B) <! sal)

One of the most important properties of mixtures
is that they X

S wlall &Sl jLisl
E m SATﬁ'\e Emf}ates?t'ar,\dagdizje& Test

OA [

\ are very reactive and unstable

AN

OB.

may have different proportions of
their components

i

have fixed proportions of their
components

A48 a5 s

can be separated only by chemical
means

eIl s s Y gt (S Y
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Question (04) sl Answer (C) <l sl

The statements below explain why magnesium is Slo asrnia ) Qi 130 oliaf Gl Ll mad
preferred over zinc to protect underground iron frn e oY) Caad aaad)h ol Alead Sl
pipes in terms of reactivity except for . . 5 el pUiuly Ao al)

Magnesium is more active oLl yiST ga o spiadl)
than zinc Sl e

Magnesium atoms lose electrons A gy s SSIV) o puediaall ) )3 i
more easily than zinc atoms Sl il e S

Zinc is more active than O Walils P a3l

magnesium PTIELE N |

Magnesium oxidized more readily ST A gy 2l & gaearindll
than zinc Sl e

Question (05) J! sl Answer (16) <l sl

Calculate the mass percent of aluminum in the olial € pall 8 4 DU A i) ALl A L
compound below.

ma 220 G ) elila) 8
(Round your answer to the nearest whole (@ )
number)

AL(S0,),

Answer={_ ] %=4LY
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Question (06) J! sl Answer (D) <! sl

Which of the following equations represents bl Alee Jia Al dliladll L
sublimation?

OA (" CH,(I) » cH,(g)

\ §

OB (" cH,0H(g) - CH,OH(l)

N

Oc. ‘ Hol) = Ha(s)

N

Oob. ‘ €O, (5)~ CO,(g)

.
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Question (07) sl Answer (C) <l sl

Given the equation representing a nuclear X 4 Jid ol g6l Jelill dlslae ) Ll
reaction in which X represents a nuclide: ‘Lo yucainl ol g1

235 1
92U - on- X

Which nuclide is represented by X? X sl L

OA.
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Question (08) J! sl Answer (A) <l sl

Which of the following terms used as a measure
of the average kinetic energy of the particles in a
sample?

S wlall &Sl jLisl
E m SATT}'\e Emi'l"ates‘gt'arlmda?ldizje& Test

¢ ledie 8 Glenall A€ a1 4Ll L gl

OA [

| temperature

M

P IPNIEEGE

chemical energy

aT'u‘lw“ o t ‘:dLLlH

volume

pressure
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Question (09) sl Answer (C) <l sl

What is the total number of electrons shared in O bl g )l 948 B Gl I sae L
the bonds hetween the two nitrogen atoms in the Uit € Sl L e g il 3 33
following molecule * :

Question (10) J!sd) Answer (9) <l sl

An elevator at shopping mall has a maximum Al (g paill a8 gen (3 oull € jo & 2eian
load of 1600 /b. 1600 /b

How many /5 kg persons can use the elevator el alafl agi€a pall ala Y s oS
at the same time? Lad S ANE L gt ) L i) 13) asl g o 8
$75kg

Answer= [ )
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Question (11) Jisdl  Answer (C) <5l

The gold foil experiment led to the discovery of
the .

S wlall &Sl jLisl
E m SATfﬁe Emi'l"ates‘gt'a’\da?ldizje& Test

OA.

cathode ray

.]n.g.s.aj'l da il

OB.

electron

O Ay

Oc.

nucleus

51 51

OD.

heutron

O sl

Question (12) J) sl Answer (A) <5l

Which particles are found in the nucleus of an
atom?

52 58153 52 g sl SV L

OA.

protons and neutrons

iy il g cilisig )

OB.

neutrons and electrons

g 515 il 5l

OcC.

protons and electrons

i S5 i 5 5

protons

Clighy
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Question (13) JV sl Answer (D) <! sl
The below graph for a substance being heated e Bke it Aplee Sy slial Sl a0
from —50 °C to 600 °C . 600 °C J\ -50°C

5 pall da 0 g AUl Jais
Temperature and Energy Curve

s

74
4
oy
0
g
o
2
i
[
Q
£
O
o=

’. 100 200 300 400 500 600 700 800 900 1000 1100 ‘Z.b. 1300 1400 1500 1‘?. 17‘00 1800
Absorbed Energy (kJ) 4iaie) 43Ua)

If 600 kJ of heat are removed from the Blaie La o (39 3ha e Baladl oy 4 a3
substance when it is at 350 °C, what will be the Lol Aa s il Laxie 350 jall e 600 K/

state and temperature of the substance? Ga e g AL el sal M Al L 350 °C

el

gas at 250 °C 250 °C e 4 3e

liquid at 200 °C 200 °C =i Al

solid at 200 °C 200°C e ila

liquid at 250°C 250°C i Alile
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Question (14) Jsd!  Answer (D) <lsal)
The equilibrium constant K for the following & shy ol Jelatll K o) 35y s o cale 13)
reactionis 1.5 x 10*° 15 x 10*5
X =Y

Based on the above information, the reaction at sie Jelstlh olel s ) Saall cila glad) 1 1ol
equilibrium will always have i ] acal Ladla () &0 G ) 381

O large amount of reactant X X adelsid) salall (e S A0S

OB. cq . Y e 1 -
50% product of Y and 50% reactant saldl e 50% 5 Y 4x3lll salddl e 50%

X X e Ll

75% product of Y and 25% (= 25% s X Aleliidl sall 0 75%
reactant X Y aaitll sl

large amount of product Y Y sl sall e s S A
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Question (15) JI sl Answer (C) <l sl

A student conducting a titration by adding
12.0 mL of NaOH(agq), of unknown

concentration to 16.0 mL of 0.15 M HCl(aqg).

What is the molar concentration of the
NaOH(ag)?

S wlall &Sl jLisl
E m SATfﬁe Emi'l"ates‘gt'a’\da?ldizje& Test

12.0 mL A8lal 3 plad) dlee Cllall Jo;
S S Al Sg pee e NaOH(ag) Jslae (=
2 38 1 i) HCI(ag) Jsbae (= 16.0 ML

0.15M
NaOH(aq) X 5L
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